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Chapter Test Version A-A ~ @\ ) z
True/False M) ‘%UQ
1. If you partition the interval [4, 8] with 8 subintervals of equal size, then each subinterval

has a width of 1/2. T“‘ M. Yoy
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I f(x) dx = Tf(x) dx. Fm «;;%%@s%é have ““”“S
a b

%; The margmal cost for a productis MC = 6x + 3. The total cost of production of 100 =

am@

K
% The sum 1/3 +2/3 + 3/3 + 4/3 can be express

6%({

% units is $400.00. The total cost function is then C(x) = 3x2 + 3x + 50.
\?SZ; J-sm?'x cosx dx = sin®x + C. \
2

Multiple Choice/Free Response

1. Let y = 5x-x2. Approximate the area under the graph of y and above the x - axis
from x=0 to x= 2 using LR4.

b. 6.75 c. 1.75 d. 8.75

2. For y = x3 +x2-x +4, compute the area under the graph of y and above the
X - axis from x=-1 to x=1 usmg RRs.

' a. 8.47 b. 8.52 c. 8.6667 @
- M’
S\R % Simplify 2 (k2 + 3k - 5) to obtain a formula with variable, n

T

/ (n3 + 6n2 - 10n)/;\> b. (n3 - 3n2 + 8n)/3
c. (n3 Wm?‘n)fii d. (n3-6n2 - 19n)/3
n n n
S Let Y ag =+4 and 2, bx=-7. Find 2, (dax- 3by).
k=1 k=1 k=1

a. -5 b. 15 o c. 21 d. %

n

Express lim 2 (4¢3 +3c 2 +7) Axg  as a definite integral on the interval [ -1, 3] .
PI-->0 k=1

6. Use }lent or RAM to find T 3/x2 dx.
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7. sz3-5x2+6xdx=

a. x4f4-5x3[3 +6x2+C b. x4/2-5x3/3 + 6x2 + C
c. 6x2-10x+6+C @4/2 - 5x3/3+3x2 + C

2 5 5
8. Suppose_"f(x)dx=7,Jf(x)dx=4,and Ig(x)dx=3.
0 2 0

Which of the following statements, if any, are true?

5
@th(x)—g(x)]dns o [ (10048016210
0 0 .
, 2
@T[f(x)+g(x)]dx=l4 @ff(x)dx:A
0 5

6 v &
Qié% 9. Find j(sz- 9x +4) dx. $ FOBOwi
0

. . 56 d. 18
2. 0 b. 3 @
10.  Find the area of the shaded region.
\
\
Y=X2 ||

Y=6-X

123'15'6\

@ 32/3 b. 20/3 c. 16/3 d. 10/3

11.  Evaluate the integral T (2 - 3x)2 dx. Support with Fnlnt.

a. 90

c. 100 d. 105
12. Thej K(x) dx = 3 sinx - 5 cos x + C. Find K(x).

a. Jcosx-S5sinx ®3cosx+55inx c. 3sinx+5cosx d. 3sinx-5cosx+x
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13.  Solve the initial value problem for y as a function of x given: dy/dx=2x-6
with an initial condition of y =4 when x=1.

a. y=x2/2-6x+9 b. y=x2/2-6x-1 c. y=x2-6x-1 Qﬁ;y x2-6x+9
S%H/P \;{ An object is thrown upward. After 1 second its velocity is 60 ft per sec. Find its velocity

after 4 sec. (Hint: Because of gravity the acceleration of a falling body is 32 ft per sec, if
we do not consider air resistance.)

a. - 100 ft/sec b. - 36 ft/sec c. 82 fi/sec @\92 ft/sec
S‘% j@ \?é\ Evaluate J -6/(2x + 1)* dx.

a. 3/2x+1)3+C b 3/(2x+1)5+C®1/(2x+1)3+C d 1/ex+15+C

3 .
5‘(4@ t;g Evaluate J‘ x2/Nx3-5dx to 5 decimal places. Support with the Fnlnt computation.
2

a. 1.85717 ®1.97224 c. 2.33613 d. 2.73021

17.  Under ideal laboratory conditions a certain bacteria has a population of 7500 after
2 hours of growth. At the end of 6 hours there are 30,000. How many bacteria
were there at the start of the growth process?

@3750 b. 4250 c. 5500 d. 6000

18 Find the area of the region given below by the Trapezoidal Rule. The spacing
between measurements is 15 ft.

/'—'\

60

130
143
139
136
137
139
130
122

118

S

a. 18,240 @ 18,930 c. 19,200 d. 19,680 e. 20,800

Find the area of the reglon in #18 by Simpson's Rule. Select your answer from Q,.,,
a-ein #18.

Express the sum .% 1+ 1/5 + 1/25 + 1/ 125 in sigma notation.
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(2-2x)@-3 % )
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AT (2-2%) dg = j‘ (4 —12x + @%f}@w
_ ﬂg
=4x ~bx* + 3x°

= Cﬁ % 433 ) = (42~ 6623
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= 39 - 756
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20,000 = 1500 ?zi; \xﬂg@@{‘%*ﬁ
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294 2. 13 +

b2 /30 +Q /2 1 (a(i))







